Answers

1) a) 33wminutes
b) 300 seconds
c) las3
2) a) 30minutes
b) 600 seconds
c) Crazy Race Gameshow
1) a) Accept any answer that explains that Louis is incorrect because the journey’s
duration is 2 hours and 10 minutes, which is equivalent to 130 minutes.
b) Accept any answer that explains that Louis is incorrect because the journey’s duration is 35 minutes,
which is equivalent to 2100 seconds.
)
A B c D E F
N
Departs crySta’ 07:00 07:40 07:10 07:50 07:20 03:00
Island
Arrives Sandy 07:40 03:20 07:50 03:30 02:00 03:40
Island
Departs Sandy 07:40 07:00 07:50 072:10 03:00 02:20
Island
Amives Crystal | 1200 | 0740 | 0830 | oms0 | 0340 | 0300
Island
2) Crystal Sandy
10 minutes 10 minutes 10 minutes 10 minutes
Island Island
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